1.  
[image: image1.wmf]0

3

2

2

=

-

-

x

x

e

e


 

Let
[image: image2.wmf]3

ln

3

1

,

3

0

)

1

)(

3

(

0

3

2

2

=

Þ

=

Þ

-

=

Þ

=

+

-

Þ

=

-

-

Þ

=

x

e

w

w

w

w

w

e

w

x

x


Note 
[image: image3.wmf]x

e

y

=

 always is positive so there is no solution to 
[image: image4.wmf]1

-

=

x

e


2.  
[image: image5.wmf]0

8

2

1

3

1

=

-

x

x



[image: image6.wmf](

)

÷

÷

ø

ö

ç

ç

è

æ

=

-

Þ

=

-

Þ

=

Þ

=

÷

ø

ö

ç

è

æ

0

8

8

0

8

8

8

8

8

2

1

3

2

3

3

3

3

3

3

/

1

3

x

x

x

x

x

x

x

x



 EMBED Equation.3  [image: image7.wmf]64

,

0

±

=

x


3.  
[image: image8.wmf]x

x

e

4

3

2

=



[image: image9.wmf]4

2

ln

3

ln

3

ln

2

ln

3

2

3

3

2

4

4

4

-

=

Þ

=

÷

ø

ö

ç

è

æ

Þ

=

÷

ø

ö

ç

è

æ

Þ

=

x

e

x

e

x

x

x


4.  
[image: image10.wmf]k

x

=

+

-

1

1

1

  (solve for 
[image: image11.wmf])

x



[image: image12.wmf]k

k

x

k

kx

x

kx

k

x

x

k

x

k

x

x

k

x

x

k

x

x

x

-

=

Þ

=

-

Þ

+

=

Þ

+

=

Þ

=

+

Þ

=

+

-

+

Þ

=

+

-

+

+

1

)

1

(

1

1

1

1

1

1

1

1


5.  
[image: image13.wmf]x

x

k

e

4

2

×

=

-

  (solve for 
[image: image14.wmf])

x



[image: image15.wmf]4

ln

1

2

ln

2

ln

4

ln

4

ln

ln

)

2

(

)

4

ln(

ln

2

-

+

=

Þ

+

=

-

Þ

+

=

-

Þ

×

=

-

k

x

k

x

x

x

k

x

k

e

x

x


6.  
[image: image16.wmf]0

16

4

3

=

-

kx

kx

xe

e

x



[image: image17.wmf]2

,

0

0

)

4

(

4

2

±

=

Þ

=

-

x

x

xe

kx


7.  
[image: image18.wmf])

2

ln(

)

5

ln(

2

+

=

x

x



[image: image19.wmf]0

2

25

25

2

2

25

0

)

2

(

25

ln

0

)

2

ln(

)

5

ln(

2

2

2

0

2

2

=

+

-

Þ

=

-

Þ

-

=

Þ

=

-

Þ

=

+

-

x

x

x

x

x

x

e

x

x

x

x


Solve using the quadratic formula or by looking at the graph.  Either way you will see that there is no real number solutions 
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Solutions are approximately 

(1.0766, 2.153) and (0.1787, 0.3574)
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